H

E . (t) = E,Zcoswt

E, - " .
E_.(t)=-—2(Xcoswt + ysinmt)

V2

E_(t)= 5(>A< cosot — ysinwt)

NG

2 E, = .
. =eD-E :e7°Dél) exp(-iwt)

A

D, (0=0)
$=1-(O,+iD)/N2 (a=1)
(D,-iD,)/v2 (q=-1)

g=0 1 -1

|Fe, M >

fey = €< Foy M, | D | Fg, Mg >

q:

0,4,-1 119>
|Fg@1, F,M > ( F =Fg—1,Fg,Fg+1

Tt

1
|Fg,Mg >

o

|Fg,Mg >
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Xy

119>
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M=-F,---,0,---,F z ) |Fy, M, >
|1,qg> |Fo,Mg>®|L,q> |Fe1;M,,q>

FM, IBO |F M. 5= F. M. @1 F, @1F, M, > < el O IFy >
<Fe, M| q | gr Vg >=<F4, Mg Lq] 9 e Me > \/2Fg+1
1.7
<Fo,My®1 q|Fo®L F, M, > Ms+q=M,
Fo.F, 1 0
AF=F,-F,=0%1 ( 000 ) 18

0 (g= 0:~« )
M=M,-M, =.+1 (q=+L:c" ) 1.9
-1 (q=-1:0" )

[110]

1/2
67e hic’®
M) 1.10

/ueg :a(Fg’Mg’Fe’Me1q)[ 603

a(Fy, My, Fo M, q) = (-1 ™M 23 41 oF +1\2F, +1
(Fe 1 FQHFQ 1 Fg} 1.11
X
-M, g M |3, I I,

a(Fg,Mg,Fe,Me,Q) ( ) 3j { }
6/ / a(Fg,Mg,F,,M,0)=1 | e |

<F,||Dq® || Fg > M. M, .q

e



I 143

G G.63 Leg
a(Fg, Mg, F,,M, Q)
87Rb 1=3/2 Do- 5S§,, © 5Pk, 1.1

Fe:3
2 -1 0 1 2
Fe=2 0 15
15 20 15
_ 5 5 30
Fe=1—7 0 ]
-1 0 1
F.=1 s 5
25 0 25
_ 25 25
Fe=1—1 0 1
B 0
Fe=0 0
2
_ 20
Fe=1—1 0 1
1.1 a(Fg, Mg, Fy, M, Q)
0 Fg=2,|\/|g=2(—2)(—>Fe=3,Me=3(—3)



144 I

§7Rb /=32 D> 5S,,<>5P,,
ng 1 2
ng 1
ng 2

ng Z,Mgz 2(-2)

Fg:2 o+ o -

ng 2,Mg= 2 ng Z,Mgz -2

O e = 6787
1.1
Fy=1,2 Fo=1 Fy=2 F=2, M=2(-2)

Fo=2- Fe=3 14/48 14/30 G0 )

L Fe=2 5/48 5/30

L Fe=1 1/48 1/30
Fog=1-Fe=2 5/48 5/18

-Fe=1 5/48 5/18

- Fe=0 2/48 2/18
1.1 FgZZ,MgZZ(—Z)(—)FeZS,Me=3(—3)

O s = 67%°



